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“AOHITAIS AE ZE3 JIEE”
o} 28 V NELE 0.06 A
AT (BIXDY) SSA (ZIR)) A W = (AX) PC/ (HICI) ABS
24 153(201)*LIHI(50)*5=01(15) > ol : (5t2%) SORL SL-54
22 LED3528. 120mA. 6EA M= o SL-54Y
=)
Bzs ==
=xgt (2ree))
=g (ree)) =x 27
S-1 52
05 0] 5t 8.6 8.7 o =
AT =5
=X al : ) =X gzt el) o A
TS = =g (el
=X oA (DT
=37A(=H5E) S-1 S-2 S-1 S-2
H-V 4 0|4 8.0 7.9 oF = | o =
10U~10D(0~45L) 0.6 0lAt 5.67 4.2 ob = | o =
10U~10D(0~45R) 0.6 04 5.67 4.1 o = | o =
Al E
= N g o X
ks )| = 2 S-1 5-2
x| e
X \ VA X y z
0.5803 | 0.4191 | 0.0006 | 0.5792 | 0.4204 | 0.0004
o | o et 0.5783 | 0.4207 | 0.0010 | 0.5790 | 0.4201 | 0.0009
y=x-0.120
3 y=0.390 0.5794 | 0.4195 | 0.0011 | 0.5784 | 0.4211 | 0.0005 | =&t | =&t
y=0.790
4 0.670x | 0.5795|0.4195|0.0010 | 0.5783 | 0.4208 | 0.0009
5 0.5778|0.4211 | 0.0011 |0.5778 | 0.4213 | 0.0009
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& SeA I\ & @ (BlX) PC / (HICI) ABS
= 153(201)*HB1(50)»=01(15) 2 ol (ot*2&) SORL SL-54
s 9 SL-54Y
d4s
=3Jgt(med/lux) B
= 3 & (&%) JI&Egt(med/lux)
S—1 S-2 S-1 S-2
10U V 500 O & 774.0 798.0 A g ES =Y
5U 20L 250 0Ol&t 441.0 398.0 A g ES Y
5U 20R 250 O & 455.0 485.0 & g A g
0.33 H V 750 Ol & 863.0 892.0 o g ESH =iy
5D 20L 250 Ol & 430.0 375.0 o g A g
50 20R 250 0l&t 481.0 554.0 A g ES Y
10D V 500 O & 736.0 763.0 A g ESIN =
10U \% 7 Ol & 60.9 71.3 A g A g
5U 20L 6.25 0| & 25.3 36.0 o g o g
5U 20R 6.25 0l &t 43.6 26.8 A g A g
1.5 H \% 12.5 Ol & 115.5 104.2 o g ESH =iy
5D 20L 6.25 Ol & 25.8 29.8 A g ES N1
5D 20R 6.25 0l & 48.6 26.4 o g X g
10D V 7 Ol&f 68.5 50.0 o g ESIN =
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“BHIANS ANE 20 JIEHR”
NEESED 28 V NEFSE 0.06 A
A (BIRD) MM/ (ZRl) R M & (MX) PC/ (HICI) ABS
A= 153(Z0I)*LHI(50)*=01(15) 2t ol : (3tRA) SORL SL-54
AEZS LED3528, 50mA, BEA M=o SL-54R
1) Z2ZAIE
o FNEE =
SH g (2r&et)
=3t (2reet) =X 21
S-1 S-2
17 0I5t 7.1 5.5 o =
Lh) HAZE =
ENCI=TE
= ® H(E) |JIEgare =2
S-1 S-2
U 5L 0.8 0|4t 5.7 4.1 o =
5R 0.8 0|4t 5.7 4.1 o =
20L 0.4 0|4t 5.0 3.9 o=
10L 0.8 04t 5.5 4.2 o =
5U v 2.8 04 6.4 4.8 o =
10R 0.8 Ol & 5.5 4.2 o =
20R 0.4 0|4t 5.5 3.8 o=
10L 1.4 04 5.3 4.4 o =
5L 3.6 0|4t 5.5 4.6 o =
H v 4 0|4 5.9 4.8 o =
5R 3.601 4 5.8 4.7 o =
10R 1.4 04 5.5 4.3 o =
20L 0.4 0|4t 4.7 4.4 o=
10L 0.8 04t 5.2 4.5 o=
5D v 2.8 0|4 5.8 4.9 o =
10R 0.8 0|4t 5.5 4.5 o =
20R 0.4 0|4t 5.1 4.4 o=
5L 0.8 04t 5.4 4.8 o=
10D
5R 0.8 04t 5.6 5.1 o=
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SR
= & 3(5) Il &2t S-1 S =5ZD
X y z X y z

5L 0.6991/0.3009|0.0000/0.6987(0.3013|0.0000, 2t =

1oV 5R 0.6989|0.3011]0.0000|0.6984|0.3016|0.0000| 2+ =
20L 0.6993|0.3007|0.0000|0.6990|0.3010|0.0000| 2+ =

10L 0.6992|0.3008|0.0000|0.6986|0.3014|0.0000| 2+ =

5U V 0.6991/0.3009/0.0000/0.6989(0.3011|0.0000, 2t =
10R 0.6995|0.3005|0.0000/0.6994|0.3006|0.0000, 2+ =

20R 0.6987|0.3013]0.0000/0.6992|0.3008|0.0000, 2+ =

10L 0.6991/0.3009|0.0000/0.6993|0.3007|0.0000, 2+ =

5L 0.6991/0.3009|0.0000/0.6994|0.3006|0.0000, 2+ =

H V yigogggéx 0.6992/0.3008(0.0000/0.6991/0.3009(0.0000| 2t =
5R 0.6993|0.3007|0.0000|0.6992|0.3008|0.0000| 2+ =

10R 0.6990/0.3010]0.0000/0.6992|0.3008|0.0000, 2+ =

20L 0.6996|0.3004/0.0000/0.6991|0.3009|0.0000, S+ =

10L 0.6994/0.3006{0.0000/0.6998/0.3002|0.0000| 2t =

50 V 0.6995|0.3005(0.0000/0.6995|0.3005{0.0000| 2t =
10R 0.6991|0.3009|0.0000|0.6994|0.3006|0.0000| 2+ =

20R 0.6995|0.3005|0.0000|0.6992|0.3008|0.0000| 2+ =

5L 0.6993|0.3007|0.0000|0.6993|0.3007|0.0000| 2+ =

e 5R 0.6995|0.3005|0.0000/0.6992|0.3008|0.0000, 2+ =

-11/12 -




KATRI-19-04-005

-12 /12 -




KATRI-19-04-005

4) ANIEE &H
-
e 5
153
& / @p \
7 o el i
55
110

- 13/ 12 -




